93102 COMBO FLUSH BOLT

FOR METAL DOOR APPLICATIONS

TEMPLATE: 939302
REV. 1 02-22-21

TOP BOLT SHOWN
SELF LATCHING

FRAME LIP STRIKE /
(2X) #8 X 3/4"[19.1] SCREWS

-— MORTISE
0.050"
[1.3]

9/16"
[14.3]

=

MORTISE
2 3/4"
[69.9]
21/8"
[54.0]
N I
MORTISE
11/8"
[28.6]

3/4" i
[19.0]

11/2"

5/8" [38.1] 5/8"
[15.9] [15.9]
REVERSABLE MORTISE —]
TOP BOLT HEAD GUIDE 17/8"
(2X) #8 X 3/4"[19.1] SCREWS [47.6]
]\ TOP OF DOOR \
7 | )
172"
% T [M27] //
-
\
MORTISE |
1 58"
[25.4] ¢ — 5.9
[9.5]
Ly
I@E?E*:”f:'i" omeae \
EL—-: [19.1]
o I %
[50.8] )/
¢ _ ~_ "
/ ~N— — —
BOLT HOUSING l\ - j 14" T~
(4X) #8 X 3/4"[19.1] 114" [355.6]
SCREWS N r [6.4] BAg;:fET
¥ “ [19.1]
s -
\\ 15 3/8"
\\ [390.53]
MORTISE \ \ =
6 3/4" \\ NN
[171.5] X == MORTISE
¢—1 AN _ _ %\ggg\\ | 59/16"
x\ ‘\) = [142.1]
L - §\\
§\§§ _ w&\
114" \
[6.3] 7] Y
0 / é.
2 MORTISE
[12.7] 143:
(341 MORTISE
MORTISE on
1" 50.8
L _ \I [25.4] 15081 N
- 7 d T~ -
NOTES:

1. DIMENSIONS IN N>

2. ALWAYS CHECK PDQ WEBSITE FOR THE MOST RECENT
TEMPLATE REVISION AT WWW.PDQLOCKS.COM

\
)

1/2" [12.7] & |
SQUARE — |

4|
N

— —
=

BACKSET
3/14"

[19.1] /

-

—_—

ST

—
——
—

DOOR WITH
RECESSED TOP

~L |1

PAGE 1 OF 2

PARPE
PDQ Manufacturing
2230 Embassy Dr.
Lancaster, PA 17603
833-273-8732
833-2 PDQTECH
www.pdglocks.com



93102 COMBO FLUSH BOLT

FOR METAL DOOR APPLICATIONS

TEMPLATE: 939302

REV. 1

02-22-21

- \ _— _ T~ -
r ~ - /I |/ —~ ~ - -
MORTISE
e MORTISE
172" [25.4] 2"
MORTISE 50.8
[12.7] o [50.8]
[3.4]
& —-N
1/4"
~ [6.3] \ |
/ / \
o -
% R \
% 7% .
/%/ N /
/ / \
\ MORTISE
t—1 - %/— - — N —  59/16"
MORTISE N [142.1]
6 3/4"
[171.5] N
/// \
15 3/8" \
[390.53]
/?// N /
1/4" N
[~ [6.2] §
BACKSET
BOLT HOUSING 14" 3/4"
(4X) #8 X 3/4"[19.1]1 [355.6] L _— -~ e
SCREWS - AT = T~—
S : oot
¢ I
I \
2" \
[50.8]
W::: — 3/4"
i | | [19.1] /
| QE:JE-T-EJ(LOTTOmDOOR
I I
3/8"
ACTIVE DOOR STRIKE [9.5]"

(2X) #8 X 3/4"[19.1] SCREWS

]
]
13/4"
[44.4]
]
]

MORTISE -

" 1
[25.4]

STTP ON FRAME

—]

-]

12" \
T i [12.7]
I
|~—— MORTISE —
17/8"
[47.6]

¢
|
|
|

MORTISE
15/16"
[23.8]
MORTISE ——{-——
0.050"

[1.3]

1 5/8"

[41.3]

MORTISE
21/4"
[57.2]

BOTTOM BOLT SHOWN

DOOR WITH
RECESSED
< — T~ - \BETIOE
| BACKSET
| | 3/4" [
| [19.1] \
g el s e Al
A .
| | /
34"
|1 9]
172" [12.7] /\—/—I
SQUARE
¢
REVERSABLE

BOTTOM

BOLT HEAD GUIDE

(2X) #8 X 3/4"[19.1] SCREWS

_FRAME & SILL STRIKE

(2X) #8 X 3/4"[19.1] SCREWS

PAGE 2 OF 2

PARDE
PDQ Manufacturing
2230 Embassy Dr.
Lancaster, PA 17603
833-273-8732
833-2 PDQTECH
www.pdglocks.com



